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104 BAEEPEPUE: o — A
B2 (B) e

Lo AL, DFT B3, KRSRGHELRRFERER R 3 - Al k= ?

(A)3 (B)5 )7 (D)9 -
Z#a=sin 45 ~ b=tan 45° ~ c=sec 45" » Hlja’+b?+c?= ?

(A)3 B)~ (C)4 ©)- -
EmEa =1, 28mEb =(2,3) » #5338 —2b =(r,s) > Hls—2r=?
(A)—2 (B)—1 (€)2 (D)3 -

Bk BER - HasEad =, k+)EEE b =2k, 3)AYAfER 18 - Hl k= ?
(A)—1 (B)1 (C)3 (D)5 -

B 24~ A AEEHRIEHE - S REERft—EER - HH - 4 - AEA
HE—ER A= AgEZ R 2

(A)6 (B)9 (C)18 (D)27 «
LIS B2 55 3 Ty 8 » 55 7 JEURy 20 » BRGSO 45 32 SRy fi] 2
(A)93 (B)95 (C)96 (D)98 -

BRIV NERRE SR Z ER AR DAV YR B o 8503 K5 L 20%~ 20%~30%
K 30%1% FEANMERT 5 5/ NEERT = RERFZ R0 B AR Ry 60 ~ 54 ~ 51 > A/
AR VYR B B T 3% o> A R ry S picE 21 60 73 (&)L L ?

(A)69 (B)71 (C)73 (D)75 -
i —RHBUE Ry 12~ 17 ~ 24 ~ 7~ 10 ~ 4 ~ 27 » HIIHE AR EOR ] 2
(A)12 (B)17 (C)24 (D)27 -
FFHAE A R A% log, XF <log, (4x —3)HfiE 2

(A)1 (B)2 (C)3 (D)4 -
FFIfAE B R FE X — 6x — 16 <0 5 2 AHEIf#E 2
(A)(x—2)(x+8)<0 (B)—3<x—5<3
(C)(x—3)?< 25 (D)—x*+6x+16<0 -

—REEEE AR RS RAAR THImAY ARy 30° » AR AMRAGIAEAE 1 d &
Rig > BHl—X > 1520 45" RIS 300 AR - Hifd= 7

(A)300(+3 —+2) (B)300(+2 —1)  (C) 3002‘/? (D)300(4/3 —1) -
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NIRRT RS I G SRR 0.4 + /NSZRAT (IR S NI G B
0.5+ FLih (I B (s e A M7 > ENA IR A IR 2 DI e » i A
W — AT IR B o ] 2

(A)0.4 (B)0.5 (C)0.9 (D)1
PRERT(X) =2X*—2x2+ 3 fEx =1 Z S Fyfa] ?
(A1 (B)2 ©)3 (D)4 -

£ f0) Ry =X HH(0)=2 - f(2)=0 - f(3)=—4 > AIFFIfulz& Ry fO)HT
A= ?

(A)x+1 (B)x+2 (C)x+3 (D)x+4 -
X —9x k=0 AR Ry AR Hillkod —9x -+ 1=0 HRIARFT Ry ?
3 7 2 9
(A) 0 (B) = (C)E (D) o
1 -2 3
—FEFTHIE 2 —2 3| ZAE A ?
g3 4
(A)—2 B)—1 ()t (D)2 -

BRI — el B — S EE 2 Ak 25 SE A A RINAEIZAEE - R 28y
M RARERDHEBLSDRR?
(A)12 (B)16 (C)20 (D)24 -

2 2
e e XL n X“+Xx—6 s Sy g e 1 py, AXHDXAC ,
EE 702 L m i Al 2 AL 0 :_CU'%—de Ve

Hrx#—-3, —1,1-H]ja+b+c+d+e=7?
(A)—2 (B)O (©)2 (D)4 -

1 1

e U e , E Il
x>0 HAX I V3 o HIx+ x ?
(A)2 (B)3 ©)4 (D)5 -
#0°< 0 <90°H sing 2% » Hif 2sin@cos @ = ?

V2 42 2 N
(A) & (B) 9 © B (D) 3
EHYIEX+2y* + 4y —8=0 AYTHE  By(a, b) » Hila+2b=?
(A)8 (B)9 (C)10 (D)11 -
FHEIC © X2 —2kx+y*—2y=4 {95 3 - HEM(@, b)fEsH—%R > Hla+b=?
(A)3 (B)5 (C)6 (D)8 -
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23. FAKEFHS—RKIAG R~ o - WEET = (R PR - TS (R EE A
PF o HE R4 B THEVEHG NG HEIE—X  BEE 2 DmEPE A= 2
(A)45 (B)60 (C)75 (D)90 -

24, iy ="F(x)=3x*+2x+1 fEx=1 ~ x=3 ;Z [ Sl 7 [&1 sk - IR A i ey ] 2
(A)12 (B)18 (C)24 (D)36 -

o | —2X—6y=8 __ |3x+by=—4 Sy 2_

25. Tl4fla, bl EFEK E{ax by—2 Eﬁi{ZaX +(a_b)y:6ma|amﬁ@@ Hi(a+b)’= ?
(A)9 (B)16 (C)25 (D)36 -
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B2 B) ahREER

1.(C) 2(B) 3(C) 4(C) 5(D) 6.B) 7.C) 8.(A)

9.(8) 10.(C)

11.(0) 12.(B) 13.B) 14.(A) 15.(D) 16.(B) 17.(C) 18.C) 19.(D) 20.(B)
21.(A) 22.(A) 23.D) 24.(D) 25.(A)

10.

11.

12.

a= L b=1>c=+2 > a2+b2+02:%

2
3a—2b=3(1,2)—2(2,3)=(3,6)—(4,6)=(—1,0)=(r,s)
s—2r=0—2(—1)=2
a+b=1x2k+(k+1)x3=2k+3k+3=18>5k=15> k=3
3*=27

{a3=a1+2d:8 :{d:3
a=a,+6d=20 =2
ap=—a;+31d=2+31x3=95
60X 0.2+54X0.2+51X0.3+xX 0.3=60
12+10.8+15.3+0.3x=60 > 0.3x=21.9 —>x=73
4,7,10,@,17,24,27 B =12

Me

log,x* < log, (4x—3)
X2 <AX—3>X2—Ax+3<0—>(X—1)(X—3) <0—>1<x<3++-+-+(1)

{H 4%—3>0 —>x>% ------ @) > FH()R)1<x<3
(x—8)(x+2)<0 ——2<x<8

(C)FEH-5<(X—3)<5b ——2<x<8
x=300+/3 —300=300(+/3 —1)

300
300 /45
X —
3003
0.4%X0.5+0.6%xX0.5=0.2+0.3=0.5
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f'(X)=6x>—4x > f'(1)=6—4=2
Zf(x)=ax?+bx+c

f(0)=c=2

f(2)=4a+2b+2=0 =2at+b=-—1
f(3)=9a+3b+2=—4 =3a+b=-2
—a=—1>b=1
f(X)= —x*+x+2=—(—x—2)=— (Xx—2)(x+1)
x?—9x+k=0
“Ma,a+1>ata+1=9 —a=4
—"fl4>5 —k=4x5=20 —=20x°—9x+1=0

. 9
~7FE$D=E

= —8—18—18—(—18)—(—9)—(—16)= —26+9-+16=—1

e "

Xy=25

sk 2x-+2y 2 HIMH ' '

@zﬁ ) 2x+2y=2+4/4x25 =20 2

X+1 X*EX—6 _ (XHL)(X+3)* (X H)(X—1)(x+3)(x—2)

x>—1  x*4+6x+9 (x?—1)(x +3)?

(XD (X)X A3+ XP=3x+2) _ (XFH)(XHI)(X*—2x+5) _ x*—2x+5

(x+)(x—1)(x+3)? (X +1)(x—1)(x +3)? x24+2x—3

a=1l>b=—2>c=5>d=1>e=-—3
a+b+c+d+e=2

1 1
X ——)P=x—2+—=3
x5 x
x+i=5
X
= 1 o
sin@zE B < —>cos«9=T
22
1242 42

2sin@cosfh =2X — X —=——
3 3 9

20/’ +2y)=—x+8 —2(y+1)?=—x+8+2x1> —2(y+1)*=—x+10
—>(y+1)2:—%(x—10)
(a,b)=(10, —1)>a+2b=10+2(—1)=8
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22. (Xx—KP+(y—1)P2=4+K+1=K+5=r’=9 —k’=4>k=2
Elisa, b)=(k,1)=(,1) > a+b=3

23. C5C5C35=15%x6=90

24, y=3x*+2x+1

»

x=1 x=3

[[ydx = j13(3x2+2x+1)dx =(x3+x2+x)‘f —(2749+3)—(14+14+1)=36

—2X—6y=8 —3x—9y=12 _4v—g y=-—2
3X+5y=—4 3X+5y=—4 ’ X=2
+by=2 2a—2b=2 a—b=1
by N - —(a+b)2=32=9
2ax+(a—b)y=6 4a—2(a—b)=6 a+b=3
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